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POLITICAL SCIENCE
Full Marks : 100
Pass Marks : 30
Time : Three hours
The figures in the margin indicate full marks
for the questions.
PART-A (F -912)
Q. No. 1 carries 1 mark each (any six) RI=CE=IG
Q. No. 2 carries 2 marks each (any six) 2%6 = 12
Q. No. 3 carries 4 marks each (any five) 4x5= 20
Q. No. 4 carries 6 marks each (any two) 6x2 =12
Total = 50
PART-B (¥ -=i+)
Q. No. 5 carries 1 mark each (any six) 1x6= 6
Q. No. 6 carries 2 marks each-(any six) 2x6 = 12
Q. No. 7 carries 4 marks each (any five) 4x5 = 20
Q. No. 8 carries 6 marks each (any two) 6x2 = 12

i LN
Total = 50

Total (Part A & B): 50+ 50 =100
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PART-A /S-S
( Contemporary World Politics )

- (TEEEE Y e )

1. Answer any six from the following Questions : 1x6=6

frseie ez Al 2T Tet sl ¢

(@)

(b)
()

(d)
(e)
1)

(g)

(1)

()
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In the Second World War, a member of the Axis Powers was the US /

Soviet Union / Germany. (Choose the correct answer)
ot g o *feq @3 o7 G Wil AERD Te1g / Giferis.
ToT / il | (%% TGICo! qIfS Tlersan)

How many independent states emerged from the disintegration of
the Soviet Union ? ;

GIfSET T Aee Tz LT FTT 98I 519 (2feei?

In which year 9/11 terrorist attack on the United States was carried
out ?

ST TEGT ST (@ IO o/ 5S> FAPEM e FRAe (2w ?

In which year was Bangladesh born as an independent country ?
@I I© AT Q2 FT G ool T (22

In which country was the Earth Summit held in 1992 ?
(I ATS Sob IX© PRI ANEH SHPS (2eeT?

Write the full form of UNEP.

UNEP-3 1=2)¢f Fo{tht {2t |

Who is the present Secretary General of U.N.O?

AT IO DI AL (i 2

When did Cuban Missile crisis occur ?

@ TS A o %0 wabe (e

Berlin Wall was demolished in the year ____. (F ill in the blank)
qifet e b® 14l (a5 | (4T 212 9199 )
The collapse of which country is known as the collapse of the “Second

World” ?
I AT oon “Taoia Rmrq ofes f2oieet Sl A2
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2. Answer any six questions from the following :

2x6=12

fFfiRe R Fee 2ol Ued ol ¢

(a)

(b)

(c)

(d)

(e)
(f)
(9
(h)

(1)

(7)

3.  Answer any five from the following questions :

Mention fwo consequences of the end of the Cold War.
Aos] 7 OF QAR 70! AR B T4 |
Which were the member countries of ASEAN when it was formed in

1967 ? .
Sova 59 ASEAN 571 TS TG 907 G (A NifRe 2

What is the difference between Deterrence and Defence ?
T RIS O afoT=] Nem ALwE! &2

Mention any two areas or regions of the world known as Global
Commons.

AfeF AT 91 TGS ARG R 7o) e | G|
Mention two causes of Globalisation. |
RIS 707 TiRe Trd 4|

Mention two economic consequences of Globalisation.
TR 75 wieftess «ifEes Trae 4

Mention fwo conceptions of Security.

s, A 24l 757 el SrE <o |

Mention fwo areas of conflict between India and China.
SRS T S (M9 WIeT TRared 7o CFa B 1 |

‘Write down the names of the Permanent Member States of Security

Council of U.N.O.
SiEPRed fFRieiel SifRaE B e B AW B

" Write two constraints on American hegemony.

NI SifgereE esige AT 7ol AfoTgwel &4 |
' 4x5=2(

frefiRie HPTI RrEe boT e il ¢

(a)

(b)
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Discuss how the policy of non-alignment helped India during Cold

War period.
s 779 TGRS (N9 FRCAFORIET (wre oRos AT SR

[ o B

Briefly discuss the factors that forced Gorbachev to initiate reforms in

the Soviet Union.
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(c)

(d)

(e)
1))

8

()

(PR PP s m%ﬁaa—ﬂ\wwmmmmﬁﬁ—ﬂ
GICE SACEIDA] <54 | |

Mention two economic and two military influence of the European
Union. :

BCEIAR TR 75 ST ST 757 ARG oo Brmel < |

Mention two areas of co-operation and two areas of disagreement
between India and Bangladesh.

OIS 9IS AFACHI Mers 2! 767 FANA! S 7/ Torews Fae Bl
<4l |

Write a note on the idea of global security.

(IR FRIPfEd €961T esiq 51 Bl 2l |

Write a note on the anti-globalisation movement.

e Rl Sicwieme R o5t G e |

What are the grounds on which India supports the restructuring of
U.N.O. ? Discuss.
> 3o fofeo sivemz AFReE sfmsibm afemmis e w0 S < |

Discuss in brief the functions of the World Bank.

o™ (9 FRIFETPR b33 Sl 5 |

4. Answer any two questions from the following : : 6x2=12

= 2R Remzr zorq Teq e ¢

(@)

(b)

(c)

(d)

4 331 R@s@

Discuss U.S. hegemony as the World Superpower.

mwmﬂmﬁaWWWﬁmWWI
Discuss how health epidemics are new threat to global security.
Fg TATPR [ 490 Rt Faierem efe qeq © SR b 5 |

Do you think that India should be given permanent membership in
the UN Security Council ? Justify your answer.

W@Eﬁmﬁ@mﬁﬁwﬁwvﬁﬁmaﬁaﬁmﬁmp
conE Tes TE0F e wife w1

Write a note on the principal organs of the United Nations.

BRI o1 ORAPRE oIS bt (it T
[4]



PART-B / «- 94
( Politics in India Since Independence )

( T oleq AEHio )

5.  Answer any six questions from the following : 1x6=6

fnFRe e [ 219 el ol 8

(1) In which state of India, for the first time in the world, a Communist
Party government came to power through democratic election ?
TREd (FI AeyS AT [COaCs LIRS I (PIC 51 AT W

stifeE fRoAe ST el 7ot SR

(b) was the chairman of the Drafting Committee of the
Constituent Assembly. (Fill in the blank)

<R TR A5al AR TeiAfe S| (el I 939 7).

(c) Where was the first Summit of NAM held ? ‘ '
NAM-Gq @le (e R Afem o oo 2w ?

(d) China invaded India in 1960/1962/1964. (Choose the correct answer)
S SiR® TT FROET Sdbo/SpbY/ S5b8 b0 | (w5 Tewco! o> TES)

() Mention the name of a prominent leader of the Narmada Bachao
Movement. :

Tl Aple SR Ied / GaRIFT AU Tl / GTa = B 4 |

02 When was the State Reorganisation Act pas_sed ?
<16y AR SR (T 50 21 (2

(g) ‘The Right to Information Act came into force in 20(_)5.

(Write True or False)
w2 G SRR SIE 200¢ bAS RS @Rl (T 7 S )

() In which year the Shah Commission of Inquiry was appointed ?
g o7 S (P T e T 2

(i) Who started “Total Revolution” ?

g e (FICT IS Ffafeet

() Who was the founder President of Bharatiya Jana Sangha ?

SRS GREE foBiFiE ASATS (i NfeE 2 ‘
6. Answer any Six questions from the following : 2x6=12

s eI Al BT TS il ¢

(a)
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Mention fwo challenges India faced immediately after independence

1ol FieR 2 FPReR e AN (I 7T SRR T |
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(b)

©

(d)

(e)

€4)
()
@)

(0

7. Answer any five from the following questions:

Mention two consequences of the Partition of India.

oo Retems 75! ARA SraE 1 |

Who was the official Congreés candidate for the Presidential eIectioﬁ
in 1969 ? Who won the election ?

Sous e GRS Fafbae AR wir 2idl (@iF Sifewt ? Fivare @i
SIS FRE 2 |

What do you mean by Defection ?

verSgel e [ e 2

Mention two consequences of the Mizoram Accord signed in 1986,
S be FiERe (@[ FraRE pfe 75! AR Ty =

Mention two features of popular movements in India.

OReS 91¢ ST 70! (@Xe) S 4 |

Write two causes of origin of regionalism in India.
TRe© SR Geled 7o Fied foril |

Write any two features of coalition government in India.
SRS FARTS bR Rl 7o @aRey =

Write two consequences of 1977 Lok Sabha election.
599 59 (A% @l oo 75 et ford |

Mention two consequences of National Emergency declared in 1975

S5a¢ BIS CAIE Tl TR SRR SRR 76 AR St <y

4x5=20

i P R i Tes o ¢

(a)

(®)
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Discuss briefly the causes of the dominance of Congress Party in the
politics of India after independence. '

FRTOR Pz SIRd ICHITOS eIz 7T KON SRR 50 S5
el ;

What were the major objectives of Jawaharlal Nehru's foreign policy ?

Discuss briefly. |
SRR (RS R Mo Yo R i@t s e

40|
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(c) . Write a short note on the demands for autonomy in North-East India. ages — 8

Tiqeq Ted SH%Ee TIPS WIS €59 bl 53 (Bl fovall|

(d) Discuss the factors that helped BJP to emerge as a dominant political

party. 7 :
. R a9 =Ifea! wel Z6ite 2ifow! (Fae 2 T4 FITFTIR Ao

41
(e) Give suggestions to curb communalism in India.

SR ArEMETORM @I AR o= @

() Write a note on India’s nuclear policy.

Oed AW ToT €sTe @bl (GRel 7|

Mention two positive and fwo negative consequences of the Green
Revolution. :

(%e 2R 75 NP oI 707 Al e R e 54|

(h) Write any four features of Indian party system.

SIS el AKZE [ SIiR6r (e foa |

8. Answer any two questions from the following :

s MRS Rl 7519 ©e &l 8

(a) Discuss the changing relations of India with Pakistan.
PAFER IO ST RGOl F~< {ea Sieeval 4 |

(b) Briefly discuss about the controversies regarding emergency. Was
the emergency necessary ? 4+2=6
GHEIITENN SER (TS GoS Aedoig b SIEnal 1 | GRRIpeT
ol A TR AT SR (2

Explain the reasons for the emergence of the Coalition Polities in the

®)

6x2=12

(c)
Indian Democratic System.
SIS SeifEE TIBT AT Ao TEIT FIFPTER WY F4 |
(d) What do you mean by planned development ? Discuss the role of
2+4=6

Planning Commission in the development of India.

e KoM M & o1 SRem e ARTH SR gt
iG5| |
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